
What is this figure? 



Which is the target in this figure? 

In a differential DVH, bar or column height indicates the volume of 
structure receiving a dose given by the bin. Bin doses are along the 
horizontal axis, and structure volumes (either percent or absolute 
volumes) are on the vertical.  



What is the drawback of DVH? 

The cumulative DVH is plotted with bin doses along the horizontal axis, 
as well. However, the column height of the first bin (0-1 Gy, e.g.) 
represents the volume of structure receiving greater than or equal to 
that dose. 



What is the drawback of DVH? 

No spatial information; i.e., a DVH does not show where within a 
structure a dose is received 



What other metrics we can calculate from DVH? 



What other metrics we can calculate from DVH? 

• Equivalent Uniform dose  (EUD) 
 
 
 

• Tumor control probability (TCP) 
 
 
 
 
 
 
 

• Normal tissue complication probability (NTCP) 
 





1. Rubin 

Fractionated radiotherapy 

Tolerance dose 

http://www.tmedphys.wepassed.com/lectures/review/28 



2. Emami’s paper 

Fractionated radiotherapy 
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THE CLINIC) 

Endpoint: Myelopathy  



SBRT tolerance dose 



SBRT tolerance dose 



SBRT tolerance dose 

a, b, d 

TG 101 is a foundational landmark, but NTCP 
still needed 



NTCP for SBRT 
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